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Verifying Trig Expressions Date
Verify each identity.
sin x
1) ——= cos’ x
sec” xtan x
cos X —sin” x
2) secx—tan’ x = ————
cos” X
3) csc? xsin x = —
sin X
1 +cos® x
4) cosx+secx=—"—"+
cos X
5 sin x
5) tan” xcot x =
cos X
sinx+cscx . - 5
6) ————=sinx- (5111‘ x+ 1)
cse” x
cscx—1 cos x cot’x
7) ———=1-sinx 8) — = -
CsC X tan” x sec x
l+csex . .
9) ————=sinx- (sinx+1)
csc” x
10) secx-(l +secx) _cosx+1
tan” x sin” x
1—csc’x 5
11) ————=-cos" x
csc” x
12) cot xtan® x = sec” x — 1
. > 1
13) smx-(seC‘x—l): -
cot” xcsc x
14) —tan’ xcse’ x = —tan” x — 1
15) tan’ xcsc x =sin x - (1 +tan’ x)
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—sin” xsec " x=1—sec” x
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cot"x—csc™ x
—tan xcscx=—"—
COos X
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=sinx- (seC‘ X - 1)
sec x

tan” x+ 1 _ tanx
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cot x cos™ X
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csCc x t+sec™ x =5
sm- X
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sinxcscx+cot" x =——
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simn” x
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sec” Xcos™ x 5
————— =sec X — 1
cot™ x
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csC” x+sec” x sec X

CSC2 X COos X
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—csc  xcos x=1—-csc” x
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25) sin xcsc x —sec” X = —tan~ x

26) csc’x —1+escx=

2 .
COos” X +smx

-2
sm-x

27) cos’ x(l — sec’ x) = —sin’ x

.
) ) sec” x
28) sec” x +cset x = ——
sin” x
csc x cos” x
29) —— =
tan“x+1 smnx
sec x ese x
30) =

- .2 2
tan x sin” x + cos” x



